WW

Mamg

(om,ﬂe[ﬁ #@ Frod UO{%CM &DSIZQ C [”tw‘% BC{ Hud -

Fixed
Cest

VARIABE
desi)

TOWL
ost

MARCIRAL
COST

MARGIEL

REVELE |

PReex T

TR~-TC

i

420

40

40O

- 38

2/

< /]

A 20

‘éfj — cz/ff’

A0

i
et

20

1. First, complete the chart by filling in the missing i

2. () How many oil changes must Pete supply each hour to make a profit? (
not make a profit with fewer oil changes?

2,

revenus, and profit celumns. -

{a) How many oil changes should Pete aim to supply ea
that number as his goal? (c) What factors might causa t

that point?

this price?

. Suppose a national oil-change chain opened
compsting with him. (a) If the national chain
to Pete’s business? Why? (b) If Pets cut his p
hava to perform to be profitable? (¢)
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nformation in the marginal cost, total
b) Why does he

ch hour? (b) Why should he sat
he lower performance after

a shop in Pete’s neighborhood and began
sold oil changes for $18, what would happen
rice 10 $18, how many oil changes would he
What would his goal for oil changes an hour be at
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